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CHAPTER 2

The Accounting Cycle

N\

N

\
The record traditionally kept for each item that appears/on the financial statements is the
account.
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A group of related accounts'that comprise a complete unit, such as all the accounts of a
specific business enterprise, is calledthe ledger.
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Accounts.indhe ledger are numbered consecutively so as to permit easy indexing and for
use in posting:
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A listing of the accounts used by a specific enterprise in its ledger is referred to as a chart
of accounts.
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Increases and decreases in an account are recorded as debits (entries on the left side of
the account) and credits (entries ofthe right'sidefof the account).
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The simplest form of an account is the T account.

.

N\,
\\.

Periodically, the debits and the credits in an account are summed and the difference
between the twoSums is determined.

99 o= (s ©glii g Bgre (GBS o (55190 Hoku Slue SO HECluw MBI g By DI
\, _ .

This difference is called the balance of the account.
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General rules of debit and credit have been established for recording increases and
decreases to asset, liability, owner’s equity, revenue and expense accounts.
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Regardless of the complexity of a transaction or the number of accounts affected, each
transaction is recorded in a manner so that the sum of the debits is always equal
to the sum of the credits.
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The effects of transactions are initially entered in a reccxd’??ajled a journal.
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Periodically, transactions that have beefnjournalized are transferred to the accounts by a
process known as posting. AN
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The sum af.the incre:\é§es recorded in an account is usually equal to or greater than the
sum of the deereases recorded in the account.
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For this reason, the normal balance of an accountis indicated by the side of the account
(debit or credit) that receives the increases.
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The flow of business transaction data from the time a transaction.occurs to its recording
in the ledger is diagrammed as follows:
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Business Business Entry recordéi\in Entry posted to
TRANSACTION - DOCUMENT # JOURNAL - LEDGER
Occurs prepared
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Before a transaction is eateredin a journal, it should be analyzed according to the
following sequgence of steps:
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1- Determineswhetheran asset, a liability, owner’s equity, revenue or expense is affected.
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2- Determine whether the affected asset, liability, owner’s equity, revenue, or expense
Increases or decreases.
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3- Determine whether the effect of the transaction should be recorded as a debit or as a
credit in an asset, liability, owner’s equity, revenue, or expense account.
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The equality of the debits and credits in a ledger is verified pertadically by the preparation
of a trial balance.
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The trial balance does not provide completeyproof of accuracy of the ledger, but only
indicates that the debits and credits agijual.

e8| 4 oo yLid kidd aS L woslhd “\

~

I3 1, J5 yd0 oo | (oS S yow Ldolojl 5l
g gluo 5SSk 9 B0y

N

LG Zunal g S

Occasionalerrors in journalizing and posting transactions are unavoidable.
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The trial balance is one of the means for discovering such errors.
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However, the trial balance indicates only that the debits and credits are equal.

~
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A journal entry that is incorrect but not posted may be corrected by drawing a line
through the error and inserting the correct item.

S g ol bl 69y y= (S oS b oyl omﬁulwlh&fl)ubﬁ,aﬁ«_&
O 903 CBMU w5 55,1
.\»

Likewise, if the journal entry is correct but the posting ls\@correct, a line may be drawn
through the error and the correct posting insegted.
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If the journal entry is ingorrect @and posted, the error may be corrected by journalizing

and posting acgorrecting entky.
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In following generally accepted accounting principles, the accountant must consider the
relative importance of any event, accounting procedure, or change in procedure that
affects items on the financial statements.

q
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The concept of materiality implies that accountants need not strictly adhere to generally
accepted accounting principles if the amounts involved are not significant.
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MATERIAL FOR TRANiL\MON

An account is a recording device used.-for sortiag aecounting information into similar
groupings.
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Entries on the debit (left) side or credit (right) side of an account increase and decrease
the account.

-------------------------------------------------------------------------------------------------------

Debits increase assets, withdrawals, and expenses, and decrease liabilities, capital, and
revenues.

Credits increase liabilities, capital, and revenues and decrease assets; withdrawals, and
expenses.

...................................................................................... o ...

To analyze a transaction: (1) identify the accounts that change;’%g) identify the amount of
the changes and whether they are increases or decreases; and (8) userthe rules to decide
whether the change is a debit or a credit. AN

Typically the infarmation includes the dates of each transaction, the page numbers of the
journal from which.the amounts were transferred, the debit or credit amounts of the
transactions, and the account balance.

......................... PP PPN

place.

To enter a transaction in the journal, write the date of the transaction, the title of the
account debited, and the debit amount on the first line.
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If more than one account is being debited, enter the second debit account and amount on
the next line.

-------------------------------------------------------------------------------------------------------

Then, on the next line, indent and write in the title of the account being credited and the
credit amount.

N\
When all of the debits and credits are entered, indent a few spaces and Write an
explanation for the entry. AN

.......................................................................................................

(2) In the ledger/acecount, enterithe date, the journal entry page number, and the debit
amount.

.......................................................................................................

(3) Enter theaccount number for the debit entry in the posting reference column of the
journal.




P .
3Ly i b

Then enter the new balance.

(6) Enter the account number for the credit entry in the posting reference column of the
journal.

Prepare a trial balance by listing the accounts and their balances:

..............................................................................x\\. .....................

If the total of the debit and credit columns are equal; the&e\eral ledger is in balance.

.......................................................................................................

The revenue and expense accountsilisted in‘the_trial’balance provide information for the
Income statement.

\o
The owner’s capital and withdrawals%i\the trial balance and the net income provide the
information for the statement 0f ewner’s equity.

The asset and liability. accounts from the trial balance and end-of-period capital from the
statement of owner’s/equity provide information for the balance sheet.

TRUE-FALSE QUESTIONS

Write the Letter T or F in the Parentheses

1- The double-entry accounting system is appropriate for small businesses.( )

VY
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2- The chart of accounts is a system of organizing and numbering the accounts in the
general ledger.( )
3- Debit entries increase accounts.( )
4- A trial balance may balance but not be correct.( )
5-The ledger is sometimes called the book of original entry.( ) \
6- A chart of accounts is a list of account titles.( ) ’\»

7- The type of record traditionally used for the purpase @&r&mding individual
transactions is called an account.( )

8- The left side of the account is called.the credit Sitle and the right side is called the debit
side.( )

9- Every business transaction affects &g\ir’\imum of two accounts.( )

10- The process @f recording atkansaction in the journal is called posting.( )

11- An entry compesed of two or more debits or of two or more credits is called a
compoundjournal entry.( )

12- A debitimay be either an increase or a decrease, depending on the nature of the
accountaffegted.( )

13- Generally, the accounts in the chart of accounts should appear in the same order in
which the accounts are presented on the balance sheet and income statement.( )

14- The data in the journal entry are transferred to the appropriate accounts by a process
known as journalizing.( )

V¥
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15- An account payable is a liability similar to a note payable, except that it is a written
promise to pay a sum of money at a definite time.( )

16)Regardless of the complexity of a transaction or the number of accounts affected, the
sum of the debits is always equal to the sum of the credits.( )

17- The left side of asset accounts is used for recording decreasesiand the right side is
used for recording increases.( )

N\

18- The ledger is the formalized device used for recording busir@s transactions in
chronological order.( ) y

3
N

19- The trial balance is one of the principal mgams. ¥or discovering errors in the ledger.

()

20- Recording the same transaction rgé\than once will not cause an inequality in the
trial balance totals.( )

21- A transpositionis the erfeneous rearrangement of digits.( )

22- The unit of organization for’the journal is the account, whereas the unit of
organizatign.for themger Is the transaction.( )

23- The\use of:@journal helps to prevent errors.( )

24- Thejearnal entry is a tool for analyzing and describing the impact of various
transactions-tipon a business entity.( )

25- The sequence of accounting procedures used to record, classify, and summarize
accounting information is often termed the accounting cycle.( )
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26- The basic storage unit for accounting data is the journal.( )

27- In a manual accounting system, each account is kept on a separate page or card.

()

28- It is not common for a business to have more than one kind of journal.( )

29- After the transactions have been entered in the general ledgerf the&must be
transferred to the journal.( ) v

N\

30- The usual balance for an account is known asithe normal balance.( )

N

SELF-TESAQUESTIONS

N\
\,

1)The separate record maintained for each item that appears on the financial statements
Is the:

a)ledger b)aceceunt c)ehart of accounts d)none of the above
2)A debit may signify\
a)an increase i an asset account b)a decrease in an asset account

c)an increaseun a liabthty account  d)an increase in the capital stock account

3)The typeefaccount with a normal credit balance is:
a)an asset b)a dividend C)a revenue d)an expense

4)The receipt of cash from customers in payment of their accounts would be recorded by
a:

a)debit to Cash; credit to Accounts Receivable

b)debit to Accounts Receivable; credit to Cash

A4
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c)debit to Cash; credit to Accounts Payable
d)debit to Accounts Payable; credit to Cash

5)The form listing the balances and the titles of the accounts in the ledger on a given date
is the:
a)income statement b)trial balance c)balance sheet d)retained earnings statement

6)A balance sheet:

a)provde owners, investors, and other interested parties with all ofghedinancial
information they need to evaluate the financial strength, profitability; and future
prospects of a given business entity. )

b)shows the current market value of the owner’s equity in the b%iness at'the balance
sheet date. )

c)assists the creditors in evaluating the debt-paying abil'k%}ﬁa business by showing the
assets and liabilities of the business combined with.those"of its owner (or

OWners).

d)shows the assets, liabilities, and @wner’s equity‘of a business entity, valued in

conformity with generally accepted ageauntingprinciples.

N\,
7)Which of the following statements is\aot consistent with current generally accepted
accounting principles relatingitesasset valtation?
a)Assets are afiginally recordedin accounting records at their cost to the business entity.
b)Accountants'assum no bustaess wilh [ast forever; therefore, assets are never valued in a
balance sheet in‘€xeess of their |iImmediate resale value.
c)Existing principles ofiasset valbuation produce more reliable results during periods of
stable prices.than du\i{]g periods of rapid inflation.
d)Accountantsipreferte base the valuation of assets upon objective, verifiable evidence
rather than Bpon)appraisals or personal opinion.

8)The balance sheet of ABC shop includes the following items: Accounts Receivable,
Notes Payable, Cash, Accounts Payable, Supplies, Notes Receivable, Equipment,
F.Houston Capital

This list includes:

a)four assets and three liabilities. b)three liabilities and five assets.

c)five assets and two liabilities. d)six assets and two liabilities.
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9)During the current year, the assets of ABC company increased by $29,000 and the
liabilities decreased by $7,000. If the owner's equity in the business is $79,000 at the end
of the year, the owner's equity at the beginning of the year must have been:

a) $57,000 b) $43,000 c) $115,000 d) $101,000

10)A transaction caused a $9,000 decrease in both assets and liabilities. This transaction
could have been:

a)purchase of a delivery truck for $9,000 cash.

b)purchase of a delivery truck for $15,000, paying $9,000 cash and isstiing a note payable

for balance. \
c)repayment of a $9,000 bank loan.
d)collection of a $9,000 account receivable. '\

\\

11)Deciding whether to record a sale when the order for\ervices Is received or when the
services are performed is an example of:

a)a recognition issue bavalaation issue

c)a classification issue d)a communication issue

12)Which of the following statementsk\}lje?

a)The chart of accounts is mostieften presented in alphabetical order.

b)The general ledger contains all the accounts found in the chart of accounts.
c)The generaljourpal contains a list ofthe chart of accounts.

d)Most companies use the same/chart of accounts.

\,
13)Which of'the following is a liability account?

a)Accounts Recelvable ) b)Withdrawals c)Rent Expense d)Accounts Payable

14)The leftSide’ of an account is referred to as:
a)the balance b)a debit c)a credit d)a footing

15)Although debits may be used to increase assets, they may also be used to:
a)decrease assets. b)increase owner's equity. c)increase
expenses. d)increase liabilities.

YA
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16)Payment for a two-year insurance policy requires a debit to:
a)Prepaid Insurance b)Insurance Expense c)Cash d)Accounts Payable

17)An agreement to spend $100 a month on advertising beginning next month requires:

a)a credit to cash b)a debit to Advertising Expense

c)no entry d)a debit to Prepaid Advertising

18)Transactions are initially recorded in the: \

a)trial balance b)T account c)journal ) d)ledger
AN

19)In posting from the general journal to the general Ied%eF\,‘the page number on which
the transaction is recorded will appear in the:

a)Post. Ref. Column of the general ledger.

b)Item column of the general ledgen.

c)Post. Ref. Column of the general journal.

d)Description column of the general journal.

N\,
~
20)The equality of debits.and ¢redits is\tested periodically by preparing a:
a)trial balance b)T aceount c)general ledger d)general journal

21)In a trial balance4aken at the'end of an accounting period, the debit total exceeds the
credit totalgpy:$81. Which of the following errors is the most probable source of this
discrepancy?

a)The balance 0f/'$162 in the Unexpired Insurance account was entered as a credit in the
trial balance.

b)The balange of $90 in the Telephone Expense account was entered as a debit of $9 in
the trial balance.

¢)The balance in the Accumulated Depreciation account of $890 was entered in the trial
balance as $809.

d)The balance of $81 in the Insurance Expense account was entered as a credit in the
trial balance.

22)A chart accounts is:
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a)a list of business customers. b)a list of the business suppliers.
c)a list of accounts used by a business entity.  d)none of the above

23)The journal is:

a)the book of original entry.

b)a list of accounts used by the business.

c)a book of the owner's names and addresses.
d)none of the above

AN
24)The chart of accounts is list of:
a)asset and liability accounts. b)expense.and revenl'jve%accounts.
c)owner’s equity accounts. d)all of the above\

N

25)A balanced trial balance assures all of the foHowIng except:

a)equal debits and credits have been recorded foriall transactions.

b)the debit and credit balance of eachraccounthas been correctly computed.

c)all transaction were posted to the right‘aecounts.

d)the addition of the account balances il\the trial balance has been correctly performed.

N\

26)The followingare reasons for keeping’a journal except:

a)it classifies the/information.

b)it shows all infarmation about & transaction in one place.

c)it provides an explanation forigach transaction.

d)it provides.a chrorMogical record of all the events in the life of the business.

27)Debitingan account signifies:

a)a deckease in the account.

b)an increase in the account.

c)depending on the account either an increase or a decrease in the account.
d)no effect.

28)Balancing an account means:
a)making sure that the debit and credit sides of the account are equal.
b)making sure that the balance is normal.

Y.
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c)all transactions are recorded in the account.
d)determining the difference between the debit and the credit sides of the account.

29)On the chart of accounts the group of accounts that should appear first is:
a)assets. b)owner’s equity. c)liabilities. d)any of the above

30)The process of posting refers to:
a)recording in the journal.
b)classifying the information recorded in the journal by transferring it\o the ledger
accounts.
c)transferring information to financial information. ’\.
d)none of the above )
AN

AN
31)The following is recorded by a debit:
a)An increase in an asset b)an increase in a liability
c)a decrease in an expense d)none of the above

N\,
32)Accounts are located in the IedgerNthe following order:
a)revenues, expenses, assets, liabilities, and owner's equity.
b)assets, revenues, expenses, liabilities, and owner's equity.
c)assets, liabilities, owner’s equity, revenues, and expenses.
d)none of the above

\,
33)The trialbalance is a:
a)list of{fevenue and expense accounts. b)list of all ledger accounts.
c)balance sheet. d)none of the above

34)The following is recorded as a credit:
a)increase in owner's equity. b)decrease in revenue.
c)decrease in an asset. d)both a and b

35)A device for sorting accounting information into similar groupings is:
a)a journal b)a transaction c)an account d)a trial balance

Y




e .
3Ly i b

36)Posting transfers information from the:

a)ledger to the trial balance b)source documents to the ledger
c)journal to the ledger d)ledger to the journal
37)A journal:

a)provides a chronological record of business transactions with all dfithe information for
a transaction in one place.

b)provides a catagorical record of only the transactions involving own\&,investment and
withdrawals in a business.

c)is used to prepare financial statements. '\»

d)results from posting the entries in the ledger. >

AN
38)A general ledger:
a)is the collection of all of the accounts foran aceéounting entity.
b)is posted with the amounts from thg jeurnal.
c)sorts the transaction information inte‘erder for financial statements.
d)all of the above AN

\,

39)When a company purchases an asset’on account:

a)it records the in€rease in accountsreceivable as a debit.
b)it records the increase in accqunts receivable as a credit.
c)it records the ingréase)in accounts payable as a debit.
d)it records the incr%e In accounts payable as a credit.

40)After anrunadjusted trial balance has been prepared, the next step in the accounting
cycle is te:

a)prepare theclosing journal entries.

b)journalize the adjusting entries in the general journal.

c)prepare the worksheet.

d)prepare the financial statements.
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